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QUESTION 1

A Human Resources application has online field help for the add, change and delete transactions. The help facility is
maintained by a separate application. How would the field help be measured for the Human Resources application?

A.1EQ

B. 3 EQs
C.4EQS

D. Not counted

Correct Answer: A

QUESTION 2

What is the purpose of the VAF?

A. Adjust the FP by +/- 35%

B. Adjust the FP by 0.65

C. Increase the reference data by 0.65
D. Increase the aFP by 35%

Correct Answer: A

QUESTION 3

An application\\'s functional size is also referred to as the installed functional size. When is the application functional
size updated?

A. Never, the application functional size is the baseline or installed functional size

B. Once a year if there were enhancement projects that altered the application functions

C. Every time completion of an enhancement project alters the application\\'s functions

D. The application is re-counted once a year regardless of the number of enhancement projects

Correct Answer: C

QUESTION 4
A Banking Deposit application (BDS) has three subsystems; each subsystem serves one particular location. All three

subsystems share the core functionalities of the application, while each has its own unique functions. Databases are
physically split and maintained separately by locations as well. What is the application size of BDS?
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Component Name Functional Size
BDS - Core 180 FPs
DDS - Canada 15 T'Ps
BDS -UK 12 FPs
BDS - Aaa 8 FPs
A. 575
B. 215
C. 195
D. 35

Correct Answer: B

QUESTION 5

What is a (are) valid example(s) of code data?

A. Substitution data
B. Static data

C. Valid values

D. All of the above

Correct Answer: D

QUESTION 6
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From the Names of Possible Functions listed identify the data functions for the HR application. Select N/A if a Name of
Possible Function does not apply. Identify the data functions used:

Hot Area:
|ILF | EIF N/A  Names of Possible Functions
&1L c Benefits
SRNES © Compensation
& e ©  Department
ERiE © | Divislon
Tel [Te ©  Employee
Tel [Te] [ [e Employee Dependents
e = Group
[Tel [Te | 7€) Health Insurance
G :_;f‘_ G _Erg_anizatlm -
Te] [ £ Tralning
Hot Area:
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ILF | EIF N/A  Names of Possible Functions
([l {[e]] [€] Berefit |
[lel[[e]] el Compensation

| [ell[Tel | Tl Department

[Tel[Te] ] T¢] Dwmsleon

| [elll[c]| [¢] Employee

EINEE .r*' Employes Dependents

| f‘ | i"_- & -Group ]
i | €] [ = Health Insurarce

' L | | _| £ Organization

[Tell [ Te © | Tralning

Correct Answer:

| ILF | EIF  NJ/A  Names of Possible Functions

I BE € Benefits _

| Eﬂ |E = Compensation

[ Tel [TeT | [l Department
[lel[le]] B Dwslon
| e | Kzl | ¢ Employee

i e | €] € Employee Dependents
'TlT .| -Group ]
e lic] | €] Health Insurance

[[cT [Tl [r] [Organization

[ ] [Tell T Te Training

QUESTION 7

Which of the following defines the user view?

A. Translation of the technical solution into the user\\'s language

B. Functional User Requirements as perceived by the user

C. Architectural representation of the user\\'s business solution
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D. None of the above

Correct Answer: B

QUESTION 8

A Trading application introduces a new subsystem. The enhancement includes 6 new Els, 3 modified Els, 2 new EQs, 1
modified EO. 1 existing EO is eliminated from this application by this enhancement. There are 3 conversion Els to
convert existing data. All the transactional functions are average complexity. What is the functional size of the
transactional functions for the enhancement?

A.54

B. 66

C.56

D. 68

Correct Answer: B

QUESTION 9

Which category (ies) of data entities is (are) usually identified to satisfy the Functional User Requirements?
A. Business data

B. Reference data

C. Code data

D. Both A and B

Correct Answer: D

QUESTION 10

There are 10 ILFs in an Equity Trading application. There is an enhancement project that is modifying 10 screens and 5
reports. All screens and reports reference 6 ILFs of the Equity Trading application. No modifications are made to the
ILFs. How many data functions would be counted?

A.15ILFs

B. 10 ILFs

C.6ILFs

D. None

Correct Answer: D
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QUESTION 11

The Report Generation application receives data from outside the boundary, and saves the data in the Reporting Data
logical file, with additional processing logic involved. The user Information is maintained in the Report Generation
application in the User Account logical file. How would the data functions be counted?

Send data
teed

Feporting
data

Uzer
Fermu=aon

Teer Account

A. One ILF and one EIF

B. Two ILFs

C. One ILF

D. One ILF, one EIF and one EQ

Correct Answer: B

QUESTION 12

CORPORATE INFORMATION SYSTEM (CIS) - EMPLOYEE DATA TRANSFER
Determine the complexity for the functions listed.

Select the complexity for each function:

Hot Area:

Hot Area:
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Function Name Enter Complexity
low average high
CIS Employee r e ~
FS Employee e | [ e -
FS Emploves Data Add r f -
FS Employee Data Change r C '
CIS Transfer Employee Data = [ =l

Correct Answer:

Furction Name Enter Complexity

low average high
CIS Employee r [ -
FS Employee Ka [ e -
FS Employes Data Add & C r‘
FS Employee Data Change 2 s s
CIS Transfer Employee Data = [ =l
QUESTION 13

What is the primary intent of an ILF?

A. Hold data maintained through system tools for use by the application being measured

B. Hold code data for use by the application being measured

C. Hold data maintained through one or more elementary processes of the application being measured
D.Both Aand C

Correct Answer: C

QUESTION 14
The TDI changed from 41 to 46 during an application enhancement. What are the VAFB and VAFA?
A. VAFB = .76, VAFA = .80

B. VAFB = .98, VAFA =1.13
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C. VAFB = 1.04, VAFA =1.08
D. VAFB =1.06, VAFA = 1.11

Correct Answer: D

QUESTION 15

From the Names of Possible Functions listed identify the base functional components for the FXS
application. Select N/A if a Name of Possible Function Type does not apply.

Identify the functions used:

Hot Area:

e |eF | B |eo |EQ | NA Names of Possible

[Functions

~ =1l =l el | e | e {Add Hong Kong
Trade

~1 | T el Tl | T | [ 4 MNew York
Trade

e Auj:lTrEde —
' T fﬁ}afly Trade Detall
[Feport

[ r e r r I—tx‘rg_ KcngTrade
| [Tel [Tel [IeT[Tel | [e T London Trade

~ il (=l R B = P iP«tnﬂwI%,r Summary
. Trade Report
~ e el el e | re7 Monthily Trade
[Monitoring Report

= T e e [ T New*furk =

el 117 |[ e | [Trade

,\J
gl

Hot Area:
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| MNames of Possible

:FEIF || El _ED EQ | N/A e ctons
BEllENENENEE Add Hong Kong
e ! —— (Trade
[TeT eI e JITeT [ TeT jadd London Trade

' (] Add MNew York
|r~ I? | | F o Trade
el el [el]lTel | [¢]] jAdd Trade
[ 1| T 7= |Daily Trade Detall
& & ( 5 C e
a|[E|GEElEE =
el (el elll[elLe]] | [£]] HongKong Trade

GlElEE

|| || |London Trade

I 3 Monthly Summary
‘.r'| LF i E‘F Trade Report
| e | —1| T~ Monthly Trade
“LF _.r |G ‘|r Monitoring Report
||r ||r| el [¢ |i'" | [c | New York Trade
IENEIRITGEGEIEE S

Correct Answer:
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| Names of Possible
ILF | EF | El _ED EQ | N/A L Retione

7] [ellle] [[e m:ﬂgKﬂ\g

(]|l l"‘ ' |€ |Add London Trade
[ (] Add Y
il il 7] F [ Tra::lghw o

B
=)

€] [€ll | [c/[|[c]| [¢] |add Trade
]| =T e Tl e .W— ‘DallyTradeDetaH
e
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